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Sl. No.1
QBID:1007376

Choose the correctly spelt word

(1) Penacea (2) Panacea

(3) Panacae {4) Panecea

(1) 1
(2) 2
(3) 3
4) 4

Fasferfan & i a0 sigen =i 27
(1) ER o5
@ ¥ =

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25401]
2[Option ID=25402]

3[Option ID=25403]
4[Option ID=25404]

Sl. No.2
QBID:1007377




Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) The old sculptor. Jakanachari. was working on the main image of the temple in the
inner shrine.

(B) At the next full moon it was to be consecrated and opened for worshap.

(C) The temple of Belur was nearly ready.

(D) He spoke to no one and tolerated no interruption.

Choose the correct answer from the options given below :

(1) (A). (D). (B). (C)
(2] (C). (B). (A). (D)
(3} (B). (C). (A). (D)

(4) (B). (A). (C). (D)

(1) 1
(2) 2
3) 3
(4) 4

78 &) o Y 27
(1) &% 92Ty (2)
(3) LS| (4)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25405]
2[Option ID=25406]

3[Option ID=25407]
4[Option ID=25408]

BER G

Bt

Sl. No.3
QBID:1007378




Choose the correct sentence.

(1) I recommend that he see a doctor.
(2) I recommend that he sees a doctor.
(3) I recommend that he 1s seeing a doctor.
(4) I recommend that he has to see a doctor.
(1) 1
(2) 2
(3) 3
(4) 4

A= g ®uA fqu e 2 ;. v s1f9%UR (Assertion (A)) % ®9 ¢ feifiga 2 4 K3k 39 &MU (Reasons
(R)) &% &9 H :

sifuser (A): @ e fomem Hanonfees 19 3 G wliA-a9 g 319 fon s 2, enefore
AU AV 5168 FHEA 2l

HI (R) : ferefl e %1 9@ B9 MG FEd 2, A1 98 FHE F 39 § 9 @ e gue g @
faaren FT 21 nar F7@ A 2

W HYA & 3T 0, = fqu e fowedi 4 8§ 5980 30w I &1 994 Sifau

(1) (A 3 (R) gHI TE 2 30 (R), (A) T TE =wE 2

@ () 3 ®) I wE E, A ®), Q) FwE smEn 48 2

(3) (A =& 2, ol R) w46 2

@ (A HE FE R, wfE R) w2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25409]
2[Option ID=25410]

3[Option ID=25411]
4[Option ID=25412]

Sl. No.4
QBID:1007379




Match List T with List IT

List I Last IT
(A) Honorary (I} One who does good to mankind
(B) Mercenary (I) The motive to earn money
(C) Philanthropist (IIT) An office without payv
(D) Prodigal (IV) One who wastes money

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IL). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(I1I). (C)-(IL). (D)-(I)
(3) (A)-(D). (B)-(II). (C)-(IIL). (D)-(IV)
(4) (A)-(IT). (B)-(D). (C)-(III). (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

e 3R I faufa Fea & wgan Hofahaa d 9 98 a9 a0 |22

(1) HY2H - &I, & forw (2) HAfawmn - H
(3) HaY - H, & @ (49 w0 -4, W
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25413]
2[Option ID=25414]
3[Option ID=25415]
4[Option ID=25416]

Sl. No.5
QBID:1007380

Which of the following approximates the meaning of the phrase, ‘'on edge™

(1) feeling excited (2) feeling nervous
(3) feeling relaxed (4) feeling angrv
1) 1

2) 2

3) 3

(4) 4




e 9 U @ ° e " o=y 2y
(1)  gar=a (2) wdar=
(3)  9rE ared (4) =94 H F1E TF

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25417]
2[Option ID=25418]

3[Option ID=25419]
4[Option ID=25420]

Sl. No.6
QBID:1007381

Identify the correct indirect narration for the following sentence.
He said. “Be gquiet and listen to my words.”

(1) He urged them and said be quiet and listen to words.
(2) He urged them to be quiet and listen to his words.
(3) He said they should be quiet and listen to his words.
(4) He said yvou should be quiet and listen to my words.
(1) 1
(2) 2

3) 3
(4) 4

U] & HUHI sree wA =R

1 = () Iw
(3 @ IE
1) 1
2 2
(3) 3
4) 4

1[Option ID=25421]
2[Option ID=25422]
3[Option ID=25423]
4[Option ID=25424]

Sl. No.7
QBID:1007382




From among the four options given. choose the one word substitute for the phrase. ‘one who
compiles dictionaries’

(1) Bibliophile (2) Evangelist

(3) Lexicographer (4) Lecturer

1) 1

(2) 2

3) 3
(4) 4

frefafiaa @ & =t T g 27

(1) 9% U o421 2 (2) TH UF ¥ 2
(3)  3°H UF ¥ 2 (4) S U =5 2
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25425]
2[Option ID=25426]
3[Option ID=25427]
4[Option ID=25428]

Sl. No.8
QBID:1007383

Identifyv the correct option to complete the sentence meaningfully.

While thev cricket, hights ———— out.

(1) had watched. had gone (2) were watching. went
(3) had watched. went (4) have watched. have gone

(1) 1
(2) 2
(3) 3
(4) 4

FrAdTe BT HaTal &1 7Y 2 -

(1)  dThder g1 (2) cdeal &
(3)  wifadsrefi & (4) TG B
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25429]
2[Option ID=25430]
3[Option ID=25431]
4[Option ID=25432]

Sl. No.9
QBID:1007384

Choose the correct phrase to complete the following sentence.
The new washing machine often gopes —————— order.

(1) run by (2) downin
(3) out of (4) even with
(1) 1
(2) 2

(3) 3
(4) 4

Sl ugg fea 0 e an g & #1 U veg "an|

(1)  =|mHErfEs (2) =t
(3)  urfers (4) @i
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25433]
2[Option ID=25434]
3[Option ID=25435]
4[Option ID=25436]

Sl. No.10
QBID:1007385

Identify the active voice for the following sentence.

Should a lie be ever told by you?

(1) Should a lie ever be told? (2) Should yvou ever tell a lie?

(3) Should a he be ever told? (4) Should a lie be ever told by evervone?
(1) 1
(2) 2
(3) 3

(4) 4




E... \..-.}:_ JT__,_.__:.""'\__.-."_ = ._;_\,'-;:-f
frfefiaa 4 & & =1 weg a1 6l 3fe 4 95 2

(1) =2y (2) wHed
(3)  wey (4) Feed

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25437]
2[Option ID=25438]

3[Option ID=25439]
4[Option ID=25440]

Sl. No.11
QBID:1007386

Name of the first Satellite in the world to be launched into the space 1s :

(1) Apollo-I (2) Sputmk
(3) Galileo (4) Armstrong

1) 1
(2) 2
(3) 3
(4) 4

HetE 4 varfud 29 96 9U" 3998 0 A4M™ 2 -

(1) 9@l - 1 (2)  HdH®
(3)  Tiferfera (4)  HEEN
(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=25441]
2[Option ID=25442]
3[Option ID=25443]
4[Option ID=25444]

Sl. No.12
QBID:1007387




Which of the following 1s TRUE about G20?

(A) India will host the First G20 Summit in 2023.

(B) It accounts for more than 80 percent of global GDP. 75 per cent of global trade and 60
percent of the global population.

(C) Piyvush Goval 1s the G20 Sherpa from India.

(D)  The permanent secretariat of G20 1s in New York.

Choose the correct answer from the options given below :
(1)  (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (A) and (C) only
(4)  (B). (C) and (D) only
(1) 1
(2) 2
(3) 3
4) 4
Hfi-20 % &1 F=rfed & | 98 27
(A)  Wrd a4 2023 H a6l @ $f-20 wiied 6 g wmom)

(B) 39 "4 % Aaild dfvas Heher Gie] e 1 80 ufdvra H i, dfdas samm w75 3R dfvaw
FAEE 60 Ufawra fa s 2)

(C)  wwd H Sfi-20 Imq1 Ty 7TE 2|
(D)  S1-20 &1 = At=ae g 4 sEie 2|

Hi fau o faepedi d | Had I0gE I &1 944 FHifg
(1) %9 (A). (B) 31 (D)

(2) %94 (A), B) 3 (O)

(3) &= (A) 3 ()

(4)  %dd (B), (C) 3N (D)
(1) 1
(2) 2

(3) 3
(4) 4

1[Option ID=25445]
2[Option ID=25446]
3[Option ID=25447]
4[Option ID=25448]




Sl. No.13
QBID:1007388

Who among the following 1= the first person of Indian origin to receive Booker Prize?

(1) Salman Rushdie (2) Jhumpa Lahir
(3) Arundhati Roy (490 V.S. Naipaul

1) 1
(2) 2
(3) 3
(4) 4

Rt e 1 97 vaen safad fom g g fiern 7
(1) e 196 (2) o erfEd
(3) FREH T (4) #.uH, e
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=25449]
2[Option ID=25450]
3[Option ID=25451]
4[Option ID=25452]

Sl. No.14
QBID:1007389

Which of the following are true regarding Indira Gandhi National Centre for the Arts

(IGNCA)?
(A) It 1s a premier govenment-funded arts organization in India.
(B) It 1s an autonomous 1nstitute under the Union Minmistry of Culture.

(C) It was established to serve as a major resource centre for Indian arts, especially

written, oral and visual source materials.

(D) It was launched by Former Prime Minister Shrimati Indira Gandhi.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A). (B) and (C) only
(3) (A). (B), (C) and (D) only
(4) (A) and (C) only
(1) 1
(2) 2

3) 3
(4) 4




Frefefiga 4 | sfen a1 g wven &z (313 S A |l v) & a1 H &4 § U4 =5E A7

(A)  ¥E 9NA I Ush WHhE faeddifvd TgE Fefl FeA 21

(B) 98 ar Hefd Farer & el wamreemE g 2|

(C) =z wndm™ wensii yeran fofigd, difgs iR gua =@ Al 7 ge 9999 &2 % ®9 o
zifud feham T o)

(D)  ¥2 qd wae i gfen wiei g gr fe T e

Fi9 feu o foemedi 4 4 981 39 %1 =94 difau
(1) &9 (A), (B) 3 (D)

(2) %99 (A), (B) 3 (O)

(3)  Fad (A), (B). (C) 3 (D)

(4 FEE Q) 3 (O)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25453]
2[Option ID=25454]

3[Option ID=25455]
4[Option ID=25456]

Sl. No.15
QBID:1007390

Which direction does a geostationary satellite revolve round the earth?

(1) East to West (2) West to East
(3) South to North (4) North to Scuth

(1) 1
(2) 2
(3) 3
(4) 4

gzl o =Hl @ w1e Y-+ s faa foom &1 SR a9 e 27

(1) vd o vfv=m (2) wfyem § qd
(3)  gfem 8 Iew (4) 3 | gfam
1) 1
(2) 2
3) 3

(4) 4




1[Option ID=25457]
2[Option ID=25458]
3[Option ID=25459]
4[Option ID=25460]

Sl. No.16
QBID:1007391

Who among P. @, R. S and T is in the middle while standing in a line? Q standing to the right
of T while S 1s between P and T, and @ 1s between T and R.

(1) T (2) P
(3) Q 4 R

(1) 1
(2) 2
3) 3
(4) 4

PQRSHNTURUF U@ |l eaufr ks usg d #1927 T & aifedl 3 Q @z 2, 5&fs P 3R T
A= SEINTAN RS H=H QR

(1) 1 ) P
(3) Q 4 R

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25461]
2[Option ID=25462]

3[Option ID=25463]
4[Option ID=25464]

Sl. No.17
QBID:1007392

A 1s 13% from Top, B 1s 18® from Bottom. When A and B change their position then A
becomes 21 from Top. What 1s the new position of B from bottom?

(1) 29 2) 28
(3 25 4) 26
(1) 1
(2) 2
(3) 3

(4) 4




AFHH 136 3 BH49 9 189 ™A W Fa A SN B 399 4 3199 TH o¢dd ofd 2 a1 A T H 219
M 90 AT A 21 B 99 2 A 8w gy

(1) 29 (2) 28
(3) 25 (4 26

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25465]
2[Option ID=25466]

3[Option ID=25467]
4[Option ID=25468]

Sl. No.18
QBID:1007393

Eight friends - P, @, R, S. T, U, V and W are sitting around a circle facing the centre. V 1s
third to the right of @ and second to the left of R while Q 1s second to the left of T and
immediate right of S. Also. U 1s between @ and T while P 1s not at the left of R. Who 1s exactly
at left of 57

(1 Vv o5 Y ¥
3 P 4 Q

(1) 1
2) 2
3) 3
(4) 4

P.Q.R.S.T. U, V3t W 311z fira v g1 § &3 il 3i1 gz @b <3 81 Q & aifed 3ir et w2 w
V23R R a6 3R g *H W 3| Fafh T & a8 31 gl ¥9H W Q & 31 S & a3 gifed 21
Q3 TH dad UR Fafth R % 1% 31k P21 21 S % at=d i #H 27

n Vv 2
3 P 4 Q

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25469]
2[Option ID=25470]

3[Option ID=25471]
4[Option ID=25472]

Sl. No.19
QBID:1007394




Seven students A. B. C, D, E, F and G take a series of tests. No two students get similar
marks. G always scores more than A. A always scores more than B. Each time either C scores
the highest and E gets the least, or alternatively D scores the highest and F or B scores the
least. If G 18 ranked fifth. which of these must be true?

(1) C 1s ranked second (2) D scores the highest
(3) E 1s ranked third (4) B isranked fourth
(1)
(2)

(3)
(4)

A W N =

|| B4 - A, B. C. D, E. F 31 G Fiansii &1 vsh-zgen ¢d 31 fov=dl fi <1 o & 3 v 79H 74
21 G %1 UHIH F A # AU 210 31 A F1 SHIE FH0 B # SAfuE #1 21 # AR A Al C I
3ih WTH Al 3N E a9 3 U Hal 2 A1 defcdeh ¥9 H D ISy 30k UE &l 2 3R F A1 B
<[ 3 UTH #d 3| afe G w1 S A ureel v foen ® A fre 3§ e wea 20

(1)  C ¥=H g5 2| (2) D I=dq 3¥ UH FId1 2]
(3)  E & M @ 2 (4) B =M = 2|

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25473]
2[Option ID=25474]

3[Option ID=25475]
4[Option ID=25476]

Sl. No.20
QBID:1007395

In a row of boys, Jayant 1s T from the start and 11% from the end. In another row of boys.
Vikram 1s 10™ from the start and 12® from the end. How many boys are there in both the
rows together?
(1) 40 (2) 39
(3) 38 4y 35

1) 1

(2) 2

3) 3

4) 4

gl hl Uk Utk H FH R H 7 9 3R 3 11d WH W Rl AsHl 6l vh guil dfe d oy
SRR H 109 3 31§ 124 ¥[ W 2| gH1 il 1w fuen #1 Fa fohad e 87

(1) 40 (2) 39
(3) 38 (4) 35




(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=25477]
2[Option ID=25478]

3[Option ID=25479]
4[Option ID=25480]

SI. No.21
QBID:1007396

If 5.2 and £:i.t-he value of S o, 18
b 3 q dbq —Tap
11 11
@D -5 @ I
: 152 12
(3 e (4 __
) 15 :I 13
(1) 1
(2) 2
(3) 3
(4) 4
af 2_4 HE{E—E, Maﬂm-:'@?nn:
b 3 qg 14 4bqg — Tap
11 11
(1) 5 (2) I
12 12
(3 — 4 -—
) 13 @ 13
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25481]
2[Option ID=25482]
3[Option ID=25483]
4[Option ID=25484]

Sl. No.22
QBID:1007397

Three spheres of radil 3 em. 4 em and 5 em are melted to form a new sphere. Then. the radius

of the new sphere 1s

(1) Hem
(3) T em

(2) 6cm
(4) 12 cm




(1)
(2)
(3)
(4)

A W N =

3 oft, 4 It 3w 5 o fasn & AW T v 98 e o= g faela fE Sma ) A, o
o= @ Brfi ¢

(L 5 ad (2) 6 4
(3) 7 i (4) 12 |

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25485]
2[Option ID=25486]

3[Option ID=25487]
4[Option ID=25488]

Sl. No.23
QBID:1007398

If the numerator of a fraction be increased by 15% and 1ts denominator be diminished by 8%.

N— - _—
the value of the fraction 1s ﬁ . then the original fraction 1s

(1) 34 (2) 4/3
(3 87 4) 3/8
(1) 1
(2) 2
(3) 3
(4) 4

gfe feredfl firg & 319 =1 15% =1 fea s 2 3 21 =1 8% g2 fean =man 2, fug =1 o o HEIR G
firgr == 2fi 2

(1) 3/4 (2) 4/3
(3) 37 (4) 3/8

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25489]
2[Option ID=25490]

3[Option ID=25491]
4[Option ID=25492]




Sl. No.24
QBID:1007399

13 chairs and 5 tables were bought for ¥ 8280. If the average cost of a table be ¥ 1227, then

the average cost of a chair 1s

(1) ¥ 185 2 ¥ 175
3 ¥ 165 4 ¥ 145

(1) 1
(2) 2
3) 3
(4) 4

Yo 1 BRI ?
(1) T 185 2 ¥ 175
3 ¥ 165 @ ¥ 145

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25493]
2[Option ID=25494]

3[Option ID=25495]
4[Option ID=25496]

Sl. No.25
QBID:1007400

The selling price of 30 items 1s equal to the purchase price of 25 items, then the profit or loss

percent 1s

(1) 16% %. Loss (2) 16% %. Profit
(3) 20%. Loss (4) 20%, Profit

(1) 1
(2) 2
3) 3
(4) 4

30 FxqHi %1 fasa gea 25 3l & %d Yed & SR 2| d A 3391 21 6 dfderd @@ e e
> B
@ 6 %mn @ 162%,

(3)  20%. &M (4) 20%, &4




(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25497]
2[Option ID=25498]

3[Option ID=25499]
4[Option ID=25500]

Sl. No.26
QBID:1024001

Which of the following crystal system has maximum number of erystal classes?

(1) Triclinie (2) Monoclinic

(3) Hexagonal (4) Isometric

(1) 1
(2) 2
(3) 3
(4) 4

frferfign ferrzar-wonferst d & frad frem-am & gen sfusay 2dt 27

(1) T (2) UAaE
(3) Wi/ =i (4) o/ rameras

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25501]
2[Option ID=25502]

3[Option ID=25503]
4[Option ID=25504]

Sl. No.27
QBID:1024002

Which of the statement 1s true for hemihedral form?

(A) They belong to the same crystal class as the holohedral forms
(B) They have the same indices as the holohedral form
(C) They have half the number of faces as the holehedral form

(D) For each holohedral form there corresponds two hedral forms

Choose the correct answer from the options given below :
(1) (A) and (B) are correct

(2) (A) and (C) are correct

(3) (A), (C) and (D) are correct

(4) (A) and (D) are correct

1) 1




(2) 2
(3) 3
(4) 4

Adsedn mey # fou Frafefias § @ 29 o o= w8 27

(A) 3 7 Berhg ey % 2 e o § e )

(B) 39 Tiweha wey o & s 29 2)

(C)  quiGerha TeT 61 g § 398 39 & Boreh /91 2 2
(D) = piwerdr ey & grafid 3 Gy (3ge) @ey 8 )

#rd few mu fawmeai © @ w6 39+ 997 Hifu
(1) (A) 3 (B)w# #

(2) (A 3 (C) wA §

(3)  (A).(C) 3t (D) =& &

4 (IO I

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25505]
2[Option ID=25506]

3[Option ID=25507]
4[Option ID=25508]

Sl. No.28
QBID:1024003

Match List I with List I1 :

List I List I1
(A)  Anthopyllite (I) Garnet
(B) Pyrope (II) Amphibole
(C) Augite (IIT) Mica
(D) Biotite (IV) Pyroxene

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(I1I), (C)-(ID), (D)-(I)
(2) (A)-(1I), (B)-(L), (C)-(AV), (D)-(I1L)
(3) (A)-(D), (B)-(IV), (C)-(I1I), (D)-(1L)
(4) (A)-(L1T), (B)-(1D), (C)-(D), (D)-(IV)

(1) 1
(2) 2
(3) 3
(4) 4




w1 5 g =1 g=1-11 firem $ifse .

-1
(A) TETFETEE
(B) WM
(C) =mse

»

Dy =R

11
(I 7He
(I) ufeFare
(1) =15
(IV) o=

= f2u v faseai @ € 98 39 %1 =994 $itau

(1) (A)-(IV), (B)-(I1L), (C)-(1T), (D)-(T)
(2) (A)-(IT), (B)-(D), (C)-(IV), (D)-(I1I)
(3) (A)-(D), (B)-(IV), (C)-(I11), (D)-(IT)
(4) (A)-(I1D), (B)-(11), (C)~(I), (D)-(IV)

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25509]
2[Option ID=25510]
3[Option ID=25511]
4[Option ID=25512]

Sl. No.29
QBID:1024004

Number of faces present in hexoctaherdrn form are

(1) 48
(3) 12

(1) 1
(2) 2
(3) 3
4) 4

(2) 24
(40 6

-, L Cor - -, o -~ %
adH AT IEET H (l-'-fd'l"i qTvel [/ Feh BId & ¢

(1) 48
3 12

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25513]
2[Option ID=25514]

3[Option ID=25515]
4[Option ID=25516]

(2)
(4)

24




Sl. No.30
QBID:1024005

Waxy/greasy luster is exhibited by

(1) Sulphur (2) Diamond
(3) Quartz (4) Galena
(1) 1
(2) 2
(3) 3
4) 4
aivdt /et awe @ wefifa s 27
(1) T~ (2) @
(3)  THeH (4) e
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=25517]
2[Option ID=25518]
3[Option ID=25519]
4[Option ID=25520]

Sl. No.31
QBID:1024006

Which of the following is non pleochroic?

(1) Muscovite (2) Hornblende
(3) Hypersthene (4) Chloritoid
(1) 1
(2) 2
(3) 3
(4) 4
Brerfefira & @ 8 @ a7 37
(1) w&EhEEe (2) #Hwts
(3)  EETEYE {4y weeEs
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25521]
2[Option ID=25522]
3[Option ID=25523]
4[Option ID=25524]




Sl. No.32
QBID:1024007

Diaphaneity is the physical property of mineral related to

(1) Transmission of light (2) Dispersion of light
(3) Reflection of light (4) Chemical composition

(1) 1
(2) 2
(3) 3
(4) 4

refifan (srdfad) wfe @ v vifas o 2 S Fre & gaf S g -

(1)  WehI9T 1 JHOTHA,/H=A0 (2) Wty w1 ehio /qfEm
(3 Th19 1 WA (4) TEEES g9

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25525]
2[Option ID=25526]

3[Option ID=25527]
4[Option ID=25528]

Sl. No.33
QBID:1024008

Which of the following has the highest hardness?

(1) Siderite (2) Calcite
(3) Corundum (4) Topaz

(1)
(2)
(3)
(4)

A W N =

0 H el Faar g S AaE 27

(1) == 3o (fosse) (2) HeETZ
(3)  =m=A 4) U=
(1) 1
() 2
(3) 3
(4) 4

1[Option ID=25529]
2[Option ID=25530]
3[Option ID=25531]
4[Option ID=25532]

Sl. No.34




QBID:1024009

Camouflage 1s type of 10nic substitution that takes places in atoms having

(1) same radius and same valency (2) same radius and different valency

(3) higher radius and same valency (4) higher radius and different valency

(1) 1
(2) 2
3) 3
(4) 4

HHFAT Ueh T w1 FEfe wfaeare 2 & fea @we & wmpa | 2 g -

(1) =9+ = 3 o9e gaesa (2) 9™ Br=n 3 3EE gl
(3) =g = 3R aumE ggeE (1) F==m B 3R sEeE gg9eEa

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25533]
2[Option ID=25534]

3[Option ID=25535]
4[Option ID=25536]

Sl. No.35
QBID:1024010

Which of the following is an oxide of titanium and iron?

(1) Ilmenite (2) Rutile
(3) Brookite {(4) Anatase

(1) 1
(2) 2
(3) 3
(4) 4

Faferiiga § © =19 @1 22 i & #1 v AeaEs 2 7

(1)  SoHAEe (2) w®2rEd
(3) wFEE (4) TARH

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25537]
2[Option ID=25538]

3[Option ID=25539]
4[Option ID=25540]




Sl. No.36
QBID:1024011

The most common isotopic system used by the petrologists for the age determination and to

know the source of the Archean magmatic rocks is

(1) U-Th-Pb (2)
(3 K-Ar (4)
(1) 1
(2) 2
(3) 3
(4) 4

Sm-Nd
Rb-Sr

srhl fndtg Szt % s-Fufon v w@E seedt  foe defafei gm swim § ed 9@ et

Tatfas T g yomet e 2 -
(1) U-Th-Pb (2) Sm-Nd
(3) K-Ar {4) Rb-Sr
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25541]
2[Option ID=25542]
3[Option ID=25543]
4[Option ID=25544]
Sl. No.37
QBID:1024012
Oxidation potential is denoted by
(1) pH (2 Eh
@ P 4 T
(1) 1
(2) 2
3) 3
(4) 4
A e = = 5 ForiE e -
(1) pH (2) Eh
(3) B 4 T
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25545]
2[Option ID=25546]
3[Option ID=25547]
4[Option ID=25548]




Sl. No.38
QBID:1024013

Glaucophane is the characteristic of

(1) Green schist facies (2) Blue schist facies

(3) White schist facies (4) Marhble

(1) 1
(2) 2
(3) 3
(4) 4

TRk faraeht emarformar 27

(1) &ha fre Hefta (2) fieh e Hefim
(3)  vda fire wefte (4) HTEHH

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25549]
2[Option ID=25550]

3[Option ID=25551]
4[Option ID=25552]

Sl. No.39
QBID:1024014

Coarse sandstone comprising of angular grains is called as

(1) mature sandstone (2) immature sandstone

(3) guartzite (4) conglomerate
(1) 1
(2) 2
(3) 3
(4) 4

TRV o7 AT Y STETEhTH I H E T el S

(1)  ufgsa sTewwy (2) T STHTH
(3) wEEAEE (4) =

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25553]
2[Option ID=25554]
3[Option ID=25555]
4[Option ID=25556]




Sl. No.40
QBID:1024015

The new mineral that characterizes any particular zone of metamorphism is termed as

(1) Index mineral (2) Authigenic mineral
(3) Allogenic mineral (4) Heavy mineral
(1) 1
(2) 2
(3) 3
(4) 4
AT = TRl 999 & i enafEha 5 S ST T @S =l 9 e B ¢
(1) =% g@Hs (2) TS (ATISAF) =
(3)  HATAANE (TAEEF) @ (4) 9 @H=
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25557]
2[Option ID=25558]
3[Option ID=25559]
4[Option ID=25560]

Sl. No.41
QBID:1024016

Given below are two statements :

Statement I :  Petrologic nature of oceanic lithosphere is greatly enhanced by studies
of ophiolites.
Statement 11 :  Ophiolites are considered to he the mass of oceanic crust and upper

mantle thrust onto the edge of a continent.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement I1 is incorrect
(4) Statement [ is incorrect but Statement 11 is correct
(1) 1
(2) 2
(3) 3
(4) 4




e & e o
w1 1:  siifedremsen % el § gemriiy werea 6 Sefasreht weft aga ofepa 28 21

weA 11 Fifherremses & et medi & fm w0 aemmie gadd i sl s wie &1 smwem
HIAT ST &

I ®YF & T |, = fou mu fawedi | @ g9 39y I w = i

(1) e 13 11 EHT ot &
(2) YA 13 11 A1 e 8
(3) w18 2, s wee 10 em 2
(4)  HYF [7eTa &, oifehT ®ua [T 8

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25561]
2[Option ID=25562]

3[Option ID=25563]
4[Option ID=25564]

Sl. No.42
QBID:1024017

East-Coast bauxite deposit of India 1s formed by sub-aerial weathering of
(1) Ehondalites (2) Vindhyans
(3) Deccan traps (4) Cuddapahs rock group

(1) 1
(2) 2
3) 3
(4) 4

A H Y- T fTua aimnse F YN Fefaiad & Jy=SE S0 O 5 F -

(1) @iswEeE @) frem
(3) T (4) 3o 9 TR
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25565]
2[Option ID=25566]
3[Option ID=25567]
4[Option ID=25568]

Sl. No.43
QBID:1024018




In Hutti gold mines gold oecurs in

(1) Quartz veins (2) Greywakes
(3) Banded Iron Formation (4) Placers

1) 1
(2) 2
(3) 3
(4) 4

%24l Hi 1 "erl # G FE 9 A A7

(1)  wHies s § (2) UaEH
(3) e wite 9= wyEl | (1) wwdd

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25569]
2[Option ID=25570]

3[Option ID=25571]
4[Option ID=25572]

Sl. No.44
QBID:1024019

Which of the following ore deposits are generally formed by magmatic segregation process?

(1) Bauxite deposits (2) Chromite deposits
(3) Gold deposits (4) Copper deposits
(1) 1

2) 2

(3) 3

(4) 4

fraforfaa # & =9 & s -fadm am=m: infig gy @ 61 wien & =@ €7

(1)  araEe FEg (2) wmree fEm
(3 == fam (4) @ frEm

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25573]
2[Option ID=25574]

3[Option ID=25575]
4[Option ID=25576]

Sl. No.45
QBID:1024020




Which of the following mineral is carbonate of ‘Mn™

(1) Calecite (2) Rhodochrosite
(3) Witherite (4) Siderite

(1) 1
(2) 2
(3) 3
(4) 4

frfefiga & & =1 @1 @it Mo =1 FEHe 27

(1)  “heame (2) TEmmET
(3 fagme (4) fogose

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25577]
2[Option ID=25578]

3[Option ID=25579]
4[Option ID=25580]

Sl. No.46
QBID:1024021

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Gypsum has lower density than anhydrite

Reason (R) : Volume of the hydrated minerals are more than the volume of the
anhydrous mineral.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) iz false

i(4) (A) is false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4




ﬁﬁw&‘qﬁ%:QﬁW{Assertinn[ﬁn%"ﬁqﬁﬁﬂﬁﬁﬁ%ﬁ@ﬂaﬁw[Reasnn
(R)) &% &9 H :

sfime (A) wERgEe # ge | fawm =1 g w9 g 2
HH (R) - frotet wfrat & qo s @ seaifaa afs o smaa sfas @ 2

ITUF HUA & A o, A fou o famedi § @ oft 3 &1 939 fifae

(1)  (A) 3 (R) 5H1 T8 & 3 (R), (A) 6t o8t =men 2
(2)  (A) 3 (R) gHT T &, @ (R), (A) it @t =men 38 2
(3) (A) g7 2, #fea (R) 3189 2
(4)  (A) 3w 2, @f (R) 79 2
(1) 1
(2) 2
(3) 3

(4) 4

1[Option ID=25581]
2[Option ID=25582]
3[Option ID=25583]
4[Option ID=25584]

Sl. No.47
QBID:1024022

Bailadilla iron deposit 1s located 1n the state of —

(1) Maharashtra (2) Bihar
(3 Chattisgarh (4) Karnataka

(1) 1
(2) 2
3) 3
(4) 4

Aemeten e fadm form oew § fRm 27

(1) =ems (2) fmEr
(3)  BEETE (4) HAEH

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25585]
2[Option ID=25586]




3[Option ID=25587]
4[Option ID=25588]

SlI. No.48
QBID:1024023

The Shahabad Limestone belongs to

(1)
(3)

(2) Bhima Group

(4)

Penaganga Group

Badami Group Chitradurga Group

(1) 1
(2) 2
(3) 3
(4) 4

TEaTe, JA1-Uee 1wy fomeh T 27

T HE (2)
Tt T (4) Tergi o

(1)
(3)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25589]
2[Option ID=25590]

3[Option ID=25591]
4[Option ID=25592]

Sl. No.49
QBID:1024024

Match List [ with List I1 :

List 1
(A) Globogerina
(B) Syringopora
(C) Productus
(D) Cidaris

List II
{I) Echinoid
(IT) Foraminifera

(IIT) Coral
(IV) Brachipod

Choose the correct answer from the options given below :

(1) (A)-(IT), (B)-(LIL), (C)-(IV). (D)-(I)
(2) (A)-(I1D), (B)-(IV). (C)-(I), (I-(1I)
(3) (A)-(IV). (B)-(I), (C)-(IT), (D)-(I1I)
(4) (A)-(D), (B)-(I1), (C)-(LLT), (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4




T=-1 = =y = gE-11 e Hifse

T=il-1 T=I-1T
(A) TR D e (3FES)
(B) fafermdm (D) BT
(C) TI=geH (III) =i g
(D) Toe=iE (IV) s=me/sfwarrais
H= fau T ke d ° W I 1 = Fi

(1) (A)-(II). (B)-(III). (C)-(IV), (D)-(I)
(2) (A)-(III). (B)-(IV). (C)-(I). (D)-(II)
(3) (A)-(IV), (B)-(I), (C)-(II), (D)-(III)
(4) (A)-(D. (B)-(II). (C)-(III). (D)-(IV)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25593]

2[Option ID=25594]

3[Option ID=25595]
4[Option ID=25596]

Sl. No.50
QBID:1024025

Given below are two statements :

Statement [ ¢ Index fossils are characterised by wide spread distribution.

Statement 11 :  Index fossils are characterized by a short range through time.

In the light of the above statements, choose the most appropriate answers from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement I1 is incorrect
(4) Statement I is incorrect but Statement I is correct
(1) 1
(2) 2
(3) 3
(4) 4




Fo I[: =8 w1afg =i Sufeafd, g= et # fafszar 26 2|

YU FH F ATE °, A9 230 0 fawedt § 9 q99 I S R =E Hiia

(1) A I 37 11 241 98 2

(2) = I3 I =M T B

(3) =¥ 198 7, @A e 117 &
4)  ww 17ed 7, @it w9 I He1 7
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25597]
2[Option ID=25598]
3[Option ID=25599]
4[Option ID=25600]

Sl. No.51
QBID:1024026

Which one of the following geomorphological features has the highest groundwater potential?

(1) Inselberg (2) Pediment zone
(3) Buried pediment zone (4) Valley fills
(1) 1
(2) 2
(3) 3
(4) 4
frafefaa & 9 =1 o yansffn fafremst 4 ssaam yise e 2t 87
(1)  FEeren (2) ufehe &=
(3)  =fea dfede &= (4) wh g et
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25601]
2[Option ID=25602]
3[Option ID=25603]
4[Option ID=25604]

Sl. No.52
QBID:1024027




Snow flakes are

(1) Ice-crystals resulting from sublimation
(2) Ice-crystals fused together
(3) Small lumps of ice
(4) Frozen rain-drops
(1) 1
(2) 2
3) 3
(4) 4

femge (= o) TR Y

(1)  S=uH 8 39 f2e e @) I w F wf -
(@ =% % IR HiieE @) et -

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25605]
2[Option ID=25606]
3[Option ID=25607]
4[Option ID=25608]

Sl. No.53
QBID:1024028

In general, which of the following has the highest total porosity?

(1) Anhydrite (2) Shale
(3) Basalt (4) Granite

(1) 1
(2) 2
3) 3
4) 4

A= Frefafaa 8 3 fegh $o gty ss9am 2 27

(1) uAETEEREe (2) 3=
(3) =" (4) TR

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25609]
2[Option ID=25610]




3[Option ID=25611]
4[Option ID=25612]

Sl. No.54

QBID:1024029

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The Indo-Gangetic Alluvial plains are rich in groundwater resources when
compared to the peninsular India.

Reason (R) : The Indo-Gangetic Alluvial Plains are characterized by thick alluvium

along with large perennial rivers whereas most of peninsular India
comprises of hard rocks.

In the light of the above statements, choose the correct answer from the options given below :

(1) 1
(2) 2
3) 3
(4) 4

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

4= 71 w9 oo v wifimeE (Assertion (A)) % %9 o fofgd = a H0 3HF # FA9 (Reason (139)]

Ao (&) T e B e fagim & g e g S wEe & o A st w5
=

# (R) : TS WA 1 AT e wE 922 ° 5 2 wEih Y- F Jee HaEi H
e U 6 el H, F9 R T el § ¥ e T I = i

(1)  (A) 37 (R) 2 T8 7 277 (R), (A) T Tl =0 2

@  (A) R R) 2w E, I R), (A) F T = = 2

(3) (A) =7 7, =11 (R) @1 518 7

(4) (A) 39T 2, = (R) 59 7

1)1

(2) 2




3) 3
(4) 4

1[Option ID=25613]
2[Option ID=25614]
3[Option ID=25615]
4[Option ID=25616]

Sl. No.55
QBID:1024030

Match List [ with List I1 ;

List I List 11
Water type Definition

(A) Hygroscopic water (I} Water that drains under the influence of gravity.

(B) Gravitational water (I) Rings of water, around coarse grains, held by
surface tension.

(Cy Capillary water (III) Thin film of moisture, around fine grained soil
particles.

(D) Intragranular water (IV) Water held within — a grain.

Choose the correct answer from the options given below :

(1) (A)-(1ID, (B)-(I), (C)-(ID), (D)-(IV)
(2) (A)-(1I), (B)~(11L), (C)-(I), (D)-(IV)
(3) (A)-(IV), (B)-(1D), (C)-(D), (D)-(III)
(4) (A)-(D), (B)-(ID), (C)-(I11), (D)-(IV)

1) 1
(2) 2
(3) 3
(4) 4
o1 % =1 #1 g1 s i
-1 T-II

(St =1 7= (arfme)
(A) AR T () 1 e TEETEA F A" § S w2 A
B) TEHE 5 (D) T=-a4 % F0 T W F =R A 5 T F wed
(C) =T = (II1) F&9 a7 F91 % FA AR o9t T4 =1 vaet v
D) AT e (IV) foft 30 % e w5

Fr= fau o Tt & @ W 3 = i

(1) (A)-dID, (B)-). (C)-(D). (D)-(IV)
(2 A-AD. (B)-dI). (C)-(D. (D)-(IV)
(3  (A)-aV). (B)-aD. (C)-(I). (D)-(III)
4 (A)-D. (B)-(II). (C)-(IID). (D)-(IV)

1) 1




(2) 2
(3) 3
(4) 4
1[Option ID=25617]
2[Option ID=25618]

3[Option ID=25619]
4[Option ID=25620]

Sl. No.56
QBID:1024031

(Given below are two statements :

Statement |

Statement 11

Groundwater flows from regions of lower hydraulic head to regions of

higher hydraulic head.

Lines joining points of equal hydraulic head are called equipotential
lines.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are true

(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement I is false
(4) Statement [ is false but Statement 11 is true
1) 1
(2) 2
(3) 3
(4) 4
= gt e feuw o 2 -

we [ ymi-ve Fre gersefta wawa $i 3t & 359 Tersrela vauar it 3 yarfEa a2
®U I1: G0 Feeeld g & foegai =i drst areft T@s w1 wnfave @ w8 2

I YA & e 1, A9 fo o fawedt § @ g9 swgw s T i

(1) Fy7 [ 3 1141 o79 &
(2) vy 13 11 EA1 g 8
(3)  ®uT 19 &, ©f ya 11 35 2
()  Hu [ 39 &, df sya (1o 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25621]
2[Option ID=25622]

3[Option ID=25623]
4[Option ID=25624]

Sl. No.57




QBID:1024032

Which one of the following statements is false about landslides?

(1) Landslides can be caused by natural and man-made factors.
(2) Landslides are due to slope-failure.

(3 Rock-fall is not a type of landslide.

(4) Vegetation helps in checking landslide.

1) 1
(2) 2
(3) 3
(4) 4

EEe & gy | e § 3 w1 w g s B

(1)  EEe Thlds 791 AHa-%a ITEH % HR0 & T 2
(2)  WEEe g $t fakear & Hum 8 g 2

(3)  foren-uaT yEEe #1 vER A6 2

(4)  EEeH %I Us4 § gaeafaai gemas et 2|

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25625]
2[Option ID=25626]

3[Option ID=25627]
4[Option ID=25628]

Sl. No.58
QBID:1024033

Which one of the following factors does not have a control on flooding?

(1) Rainfall intensity and duration (2) Topography
(3) Channel gradient (4) Evaporation
(1) 1
(2) 2
(3) 3
(4) 4
frferfiga & & ®F-m s s = e T & 27
(1) =i 1 ge=a 3 swEfy (2) THETRfd (Zrmmd)
(3) = wavr (4) @t
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25629]
2[Option ID=25630]
3[Option ID=25631]
4[Option ID=25632]

Sl. No.59
QBID:1024034

Matech List I with List 1T :

List-1 List-I1
{Voleanic materials) {Effects/Definition)
(A) Lahar (I} Toxic volcanic gas
(B) Pyroclasts (I) Phreatic eruption
(C)  Fluorine (IIT) Fast moving volecanic mudflow

(D)  Voleanic steam (IV) Fragments of hot rock and spattering lava

Choose the correct answer from the options given below :

(1) (A)-(ID), (B)~(L1I), (C)-(IV). (D)-(1)
(2) (A)-(I1D), (B)-(IV). (C)-(1), (D)-(1I)
(3) (A)-(D, (B)-(ID), (C)-(ILD), (D)-(IV)
(4) (A)-(IV), (B)-(D), (C)-(ID), (D)-(I11)

(1) 1
(2) 2
(3) 3
4) 4
geft-1 % @y &1 g=-11 e Hifew
-1 -1
(ST E ) (sreret /)
(A) &R () weleh saemda fa
(B) “eEEmH (I) e 3g¥e
(i)
(C) TEHA (D demfa @ "ga g SSEHEE
SIS 1 Ja1E
(D) “EeHEE e (V) ™ WEH § ghs iR Ieefem
FIEL

Frt feu mu fawmedi & € @ 39 %1 39w Hife .

(1) (A)-(1T), (B)-(I1D), (C)-(IV), (D)-(I)
(2) (A)-(IID), (B)-(IV), (C)-(1), (D)-(IT)
(3) (A)-(D), (B)-(ID), (C)-(LLI), (D)-(IV)
(4) (A)-(IV), (B)-(D), (C)-(ID), (D)-(11T)

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=25633]
2[Option ID=25634]
3[Option ID=25635]
4[Option ID=25636]

Sl. No.60

QBID:1024035

Given below are two statements :

Statement | :  Fossil fuels supply approximately 85— 90% of the global energy
consumed.
Statement 11 :  Nuclear power is considered a conventional source of energy.

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Both Statement I and Statement I1 are true
Both Statement I and Statement I are false
Statement [ is true but Statement I is false

Statement [ is false but Statement 11 is true

1 2 %y feg o £ -
Fyq 1. SArardt sum Sfvas w9 @ a 1S9 85 — 90% ITe= H4d B

®U I11:  TH-9f R S H TEAE Jid G= 61 2

ITUH HUA & el °, A9 fou mu famedi § 4 gt 3 w1 =55 Sifau

(4)

(1) 1
(2) 2
3) 3
(4) 4

Fua [ 3 [ g oo 8
e 1 3 11 i 3/ 2
%u [ Oea 8, wifeh e 11 3160 2
wyA [ 35 8, S A 1o 8

1[Option ID=25637]
2[Option ID=25638]
3[Option ID=25639]
4[Option ID=25640]

Sl. No.61

QBID:1024036




Given below are two statements :

Statement [ :  Biosphere does not include the living beings that lie hidden well out of
sight.
Statement [1 :  Single-celled photosynthetic organisms thriving in the sunlit zone of the

ocean generate about 80% of the atmospheric oxygen.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement I is false

(4) Statement [ is false but Statement 11 is true

(1) 1
(2) 2
(3) 3
(4) 4

= 3 FoA T E

FAI:  F9 O3 (FEEER) § UH S wffed T 99 9 o g § T5 od &, 99 w5 A

F [1:  UFH-FEE THE BYedl SfE, T AEErE F qE-TEE &9 0 Fed-Fed s,
ATFHTS T =TT 80% HH 3091 Fid 7

I FYA F A °, = 30 v G § O w3 #1999 i

(1) =+ ¥R Iz 94 7
(2) Y [N I ST 790 3

(3)  FuA I =T 7, = Fae 11 58T &

(4) F9 [ 570 2, i %9 IL 979 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25641]
2[Option ID=25642]

3[Option ID=25643]
4[Option ID=25644]

)

'-3 EI-\ ;i q

Sl. No.62
QBID:1024037

The Mariana Trench, the deepest part of the world's oceans, is located in the

(1) Atlantic ocean (2) Indian ocean

(3) Pacific ocean (4) (Caspian sea




(1) 1
(2) 2
3) 3
(4) 4

fova = 9EETH 1 g TR fEE, /i @i el e 2 v

(1) HZATZF TETETH (2) T&= HEMETR
(3) I HETETH (4) e wm

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25645]
2[Option ID=25646]

3[Option ID=25647]
4[Option ID=25648]

Sl. No.63
QBID:1024038

Which one of the following does not represent a plate-boundary?

(1) Oceanic ridges (2) Abyssal plains

(3 Oceanic trenches (4) Transform faults

(1) 1
(2) 2
(3) 3
(4) 4

frfefiaa # & =5 <e-dim +1 T2 gt ?

(1) WEEFTHE % (2) faae fem
(3)  wEEwHE =t (4) TR W

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25649]
2[Option ID=25650]

3[Option ID=25651]
4[Option ID=25652]

Sl. No.64
QBID:1024039

Which one of the following hotspots is located in the Indian Ocean Region?

(1) Eastern Hotspot (2) Galapagos hotspot
(3) Tasmanian hotspot (4) Kerguelen hotspot




(1) 1
(2) 2
3) 3
(4) 4

AfefEd 8 § 4 A1 99 w9 5 9eErE 5 f5h 27

(1)
(3)
(1) 1
(2) 2
3) 3
(4) 4

TEHl T T
TR T T

1[Option ID=25653]
2[Option ID=25654]
3[Option ID=25655]
4[Option ID=25656]

(2) TSI qd T4

(4) FEeH T4 TUA

Sl. No.65

QBID:1024040

The internal structure of the Earth has been identified on the basis of

(1)
(3)

(1) 1
(2) 2
3) 3
(4) 4

Seismological evidence

Drilling to the centre of the Earth

{2) Ground penetrating radar imagery

(4) Deep vertical electrical sounding

uedt 1 sArdtts Foa Hi TEaE e g # e smaw w f o -

(1)
(3)
1) 1
(2) 2
3) 3
(4) 4

TFEIEA FEsEl =2

1[Option ID=25657]
2[Option ID=25658]
3[Option ID=25659]
4[Option ID=25660]

(2) g-ai = o

(4) TEL ST A uiErE

Sl. No.66

QBID:1024041




Given below are two statements : One 18 labelled as Assertion (A) and the other is labelled as
Reason (R).

Aszertion (A):  Movement and collision of plates accounts for most of the earthquakes and
voleanoes.
Reason (R) : Plate movement is caused by convection of earth’s internal heat.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) is false

(4) (A) is false but (R) is true

1) 1
(2) 2
(3) 3
(4) 4

fre g1 wu fou mu B : o AU (Assertion (A)) % ¥4 H feiflga @ @t go0 39% FW1 (Reason
(R)) F &7 H :

sfismea (A) el il i zE 8 gt % sl g st saremE e g F)
FR (R) : wet it Frafes I % geEd % wn wre fsfer 2t #)

I FYF & e °, A9 fGu m fawedi | @ 998 39gw I w1 99 fifaw

(1) (&) 3 (R) T a8 & 3 (R), (A) i w8 =men 8

2 (A 3 R)IE T & e R), (A F T =mEn 1 R
(3) (A @= R, o (R) @3 2

(4)  (A) & &, 9 (R) 03 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25661]
2[Option ID=25662]

3[Option ID=25663]
4[Option ID=25664]

Sl. No.67
QBID:1024042

Amongst the given options, which one represents the largest scale of geological mapping?

(1) 1: 25,000 (2) 1:50,000
(3) 1: 10,000 (4) 1:5,000

1) 1




(2) 2
(3) 3
(4) 4

fra feu o fekei # = spEefes amfsEor 1 veew o 27

(1) 1: 25,000 (2)
(3) 1: 10,000 (1)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25665]
2[Option ID=25666]

3[Option ID=25667]
4[Option ID=25668]

Sl. No.68
QBID:1024043

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Aszertion (A) : Dispersion halos are formed in an area around the source.

Reason (R) : Elemental dispersion is caused by the natural process of outward
movement of certain metallic elements from a source.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(1) (A) is false but (R) is true

(1) 1
2) 2
3) 3
(4) 4




fi= g FuF fo M B : uF AFERE (Assertion (A)) % ¥4 F foifaq ® 41 g0 39% FW01 (Reason
(R)) % &9 4 :

sAfirwEE (A) - Hid % E-9 % &9 § ThivH wwee! & HEi g 2

® (R) : freft wa & oo fafire e o & afeded e § ol ofen & S
e bl g 21

I HYA % e 1, e fou o fawedt @ @ g9 svge s s g9m i

() (A) 3R (R) SH & 3t (R), (A) i 7 = 2

(2) (&) 3 ®R) I G E G (R), (A) F ad =men 17 2
(3) (AT R, dfF (R) @

(4 (A 3Ed 2, A6 (R) T 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25669]
2[Option ID=25670]

3[Option ID=25671]
4[Option ID=25672]

Sl. No.69
QBID:1024044

The detectors used in seismic reflection surveys are called

(1) Sonde (2) Geophones
(3) Electrodes (4) Seintillation counter

(1) 1
(2) 2
(3) 3
(4) 4

et T BEEOn H ITAm fR S AT SEE 1w wad 87

(1) drs (2) qBH
(3) oS (4) e TE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25673]
2[Option ID=25674]

3[Option ID=25675]
4[Option ID=25676]

Sl. No.70




QBID:1024045

Match List [ with List IT ;

List-1 List-11
(Drill-hole diameter) (Drill-hole nomenclature)
(A) 60 mm (D BQ
By 96 mm (1) AQ
(C) 48 mm (III)y NQ
(D) 76 mm (IV) HQ

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)
(2) (A)-(D), (B)-(IV), (C)-(ID), (D)-(111)
(3) (A)-(1T), (B)-(11D), (C)-(1), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C)-(D), (D)-(I1I)

(1) 1
(2) 2
(3) 3
(4) 4
geft-1 % Ty =1 ge-11 firem $ifsw .
Tt 1 gt-11
(wr-fiog =1 =) (wau-fig $it a1 wzfq)
(A) 6o furdft (D BQ (=)
(B) 96 fisfi (I AQ (z,)
(C) 48 fisdt (Ill) NQ (w.%Y,)
(D) 76 fisfi (IV) HQ (79.79)

Hrt feu mu fawmeai d @ @ 39 %1 T fifso .

(1) (A)-(D), (B)-(ID), (C)~(L1I), (D)-(IV)
(2) (A)-(D), (B)-(IV), (C)-(ID), (D)-(111)
(3) (A)-(IT), (B)~(I1I), (C)~(D), (D)-(IV)
(4) (A)-(IV), (B)-(1D), (C)-(D), (D)-(I1T)

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25677]
2[Option ID=25678]

3[Option ID=25679]
4[Option ID=25680]

Sl. No.71
QBID:1024046




The regional strike direction of the Dharwar rocks is

() NE-SW (2 E-W
(3) NNW-SSE (4 ENE-WSW
(1) 1
(2) 2
(3) 3
(4) 4

HHETE i FeeHl & @ e fem e 2y

() IW - & - gf&m afeaw (NE - SW)

(2 T - uffam (E-W)

(3) I - Imwafrem - gfém gféorgd (NNW - SSE)

(4) & I - ufvew gfem offem (ENE - WSW)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25681]
2[Option ID=25682]
3[Option ID=25683]
4[Option ID=25684]

Sl. No.72

QBID:1024047

Which one of the following statements is not true regarding the Eparchaean unconformity?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

It separates the lower Archaeans from the upper Proterozoics
At places, it is represented by conglomerate
It separates the lower Triassics from the upper jurassics

It is visible, at some locations, along the contact between the Dharwars and the
Kaladgis

ufehe fammfam=nfaar & g @ frafafiaa & € #17 @ awes = 78 87

(1)
(2)
(3)
(4)

1) 1
(2) 2

Tz Tl urfta weEreedt 8 e sgadeErRedl w3t wT 21
$o T W Tz wfewn g g dm 2

7z freet getfas wei = Sl gifes & sem w5 2)

F0 WH T 38 yNEres 30 weneht % @ @ 91 g &l




(3) 3
(4) 4

1[Option ID=25685]
2[Option ID=25686]
3[Option ID=25687]
4[Option ID=25688]

Sl. No.73
QBID:1024048

Which one of the following is the richest in plant-fossils?

(1) Raniganj formation (2) Barakar formation

(3) Rajmahal formation (4) Damuda formation

(1) 1
(2) 2
(3) 3
(4) 4

frferfiga & & +7 sverfa e % ait § =8 o9 27
(1) s de g (2) = i TR
(3)  UaHEd 9 TR (4) &qegl 91 HE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25689]
2[Option ID=25690]

3[Option ID=25691]
4[Option ID=25692]

Sl. No.74
QBID:1024049

Which one of the following is a plant-fossil?

(1) Nummulites (2) Turitella

(3) Paradoxides (4) Gangamopteris

(1) 1
(2) 2
3) 3
(4) 4

ffafiaa @ & 9 v F9Ed Sawa 27

(1) =T (2) e
(3) tsHEESHE (4) TTETRfE
1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=25693]
2[Option ID=25694]
3[Option ID=25695]
4[Option ID=25696]

Sl. No.75
QBID:1024050

Which one of the following statements is not true about the Brachiopods?

(1) They are extinct
(2) They are known to have existed since the Cambrian
(3) They encompass 100 genera and 300 species

(4) All are marine

(1) 1
(2) 2
3) 3
(4) 4

e S oy d faffar § 2 s o e g i 27
(1) o foee &t 9% 21

(2) I e w1 8 & siferesam w1 w1 e 2

(3) 3 100 =g /"9 3 300 wafaat #1

(4) =t wdt E

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25697]
2[Option ID=25698]

3[Option ID=25699]
4[Option ID=25700]

Sl. No.76
QBID:1024051




Matech List I with Last 1T :

List-1
(501l Horizon)
{(A) A
By B
() C
D K

(I

(D)

(I10)

(Iv)

List-IT
{Definition)

Uppermost horizon of soils lacking ‘00" horizon composed of mineral
matter with finely divided organic matter that produces gray
colour contains roots and burrows.
Partially weathered horizon, cemented with calcium carbonate to
form a hard pan. The upper part of this horizon iz commonly
laminated.
It is enriched in clays, oxides and hydroxides of iron, manganese
and aluminum. These have been removed from the overlying
horizons by (1) colloidal transport and redeposited as clay lining
and (2) solution transport and precipitated as void fillings and
concretions. Strongly coloured by iron oxides and hydroxides.
Lowest, Partially weathered horizon. Oxidation rinds on minerals,
possible parent materials includes bedrock or sediments such as
glacial outwash and till or alluvial or colluvial deposits.

Choose the correct answer from the options given below :

(1) (A)-(D. (B)-(ID), (C)-(IV). (D)-(11I)
(2) (A)-(D, (B)-(ILI), (C)-(IV), (D)-(1D)
(3) (A)-(D, (B)-(ILI), (C)-(ID), (D)-(IV)
(4) (A)-(D), (B)-(IV), (C)-(I11), (D)-(1T)

1) 1
(2) 2
(3) 3
(4) 4




TAt-1 =19 1 g-11 e i

-1 T=I-1T
(ga1 w&) (wrfesmn)
A A (M) T2 F HaE we, e O° E A4 2], J gE U1 309 F aTel o 9erd
+ gau faurse o= gfs gl | a2 21 3 =2 o fae 2e 2
B B (1) =TSk =9 W AUHHT G A HeAIHT FEHZ T TATS 2 TH Fal 7T
ST 7| 53 & w1 S {5 g wia w5 7|
i C AID) == Sz, W 3R AFEAER 5 TESEEEs, FAFEEs A g 7 wg
?.jﬁTﬂaq:'qur:avﬂﬁHﬁn?mmwﬁ%
(1) FrEAEE SAETTET AR G AT TG W A (2) T e
ﬂﬁﬂywwmxmn AT TiE AFEES IR TESEEES g 58
Egigzuf
D) K (IV) f=am 19 =9 O AUMEd et AEEA @ TS 98 a7,
T F S W AR W O SAaEE w9 T EEdE arasw st e
gfteh1 a1 weire 41 fagre fem afofea 2
Fr o o et d @ wE I =Ee i

1 (A-D. (B)-(ID. (C)-@V). (D)-III)
@ (A)-D. (B)-(II). (C)-(IV). (D)-(II)
3 A-D. (B)-ID. (C)-(aD. (D)-(IV)
@ (A)-D. (B)-(IV). (C)-(IID). (D)-(II)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25701]
2[Option ID=25702]

3[Option ID=25703]
4[Option ID=25704]

Sl. No.77
QBID:1024052

Given below are two statements :

Statement [ :  Weathered rock is fractured and/or chemically altered rock that has not
been mobilized by hill slope or bioturbation processes.

Statement I1 :  Saprolite differs from weathered rock in degree of alteration.

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both Statement | and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement I1 is incorrect

(4) Statement [ is incorrect but Statement I is correct




1) 1

(2) 2
3) 3
4) 4
=1 2 =oe few o § -
FwE [ ImuliE 99 v favfim siy/a ooefs =0 @ ofefE 9@ 2 o wrd 2w @ S aue

i ufswranatt @ nfasfia =8 & ™ 2
Fud [[:  Hvenge, smeafE fw @ ofada & 59 F snar w fis 2

I HUA % e 1, fi9 fon o fawedt § @ guw svgw s o T i

(1) %y [ 3 I 2H 5 8
(2) ¥ 13 IS e 8
(3)  HyT [ 899 &, ©f Sya 11 35 2
(4) w379 2, AfeT wya 115 @

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25705]
2[Option ID=25706]

3[Option ID=25707]
4[Option ID=25708]

Sl. No.78
QBID:1024053

How do alluvial rivers respond to baselevel changes?

(1) Aggradation occurs when baselevel rises; incision occurs when baselevel drops
(2) Incision occurs when baselevel rises, aggradation occurs when baselevel drops
(3) Increase in sediment load when baselevel rises; decrease in sediment load when

baselevel drops

(4) Decrease in sediment load when baselevel rises; decrease in sediment load when
baselevel drops

(1) 1

(2) 2

(3) 3

(4) 4




(1) S 3MR-TG 3341 2 I del= 2id1 2, 9 AR T A S 2 A FA w2

(2) @ IMGW TR FW 3341 7 a1 FeA Bl 7, T G T A A@1 7 ql deread 2w

(3) T SAUN-TR IIAT 7 1 SFFEI-R Fg A 7, O AGE-TR A= Aq1 7 9l FFEAI-9R FH A
i

(4) T MEON-TE sS4 & 71 J949-9 FH 5 9191 7, 6 SaE-5a A9 T £ a9 99— 97 79 5
EIGIR]
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25709]
2[Option ID=25710]

3[Option ID=25711]
4[Option ID=25712]

Sl. No.79
QBID:1024054

The maximum size of grain that a particular flow can entrain is called as the

(1) Capacity of the flow (2) Competence of the flow
(3) Bedload of the flow (4) Saltare

(1) 1
(2) 2
3) 3
(4) 4

foet fafire ware g Siew fofn o a6 910 F01 % 3Tfehan 3THTT ® = FEd B 7

(1) TR hi &uar/ arfian (2) waTE 1 FHed
(3) TERE T A 9N (4) HEem

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25713]
2[Option ID=25714]

3[Option ID=25715]
4[Option ID=25716]

Sl. No.80
QBID:1024055

To which of the following grain size, Stoke’s law of settling is NOT applicable?

(1) 0.01 mm (2) 0.1 mm
(3) 0.06 mm (4 0.2mm




(1) 1
(2) 2
3) 3
(4) 4

FeAfefigd o o e &0 s W = w5 e aeedt e Ay A e
(1) 0.01 Tt (2) 0.1
(3) 0.06 To=t (4) 0.2 fd

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25717]
2[Option ID=25718]

3[Option ID=25719]
4[Option ID=25720]

Sl. No.81
QBID:1024056

Which of the following condition is a characteristic of the braided rivers?

(1) Non-eochesive hanks
(2) Bed load dominated sediment transportation
(3) Frequent fluctuation of flow
(4) All of the above
(1) 1
(2) 2
3) 3
(4) 4

fFr=ferfiaa & & %5 &t @ 1fesa afeai i s enaforea 27

(1) zEEas AR (2) E-HE S U gren FaaT-afEea
(3) vaERE i I AR (4) Togw T

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25721]
2[Option ID=25722]

3[Option ID=25723]
4[Option ID=25724]

Sl. No.82
QBID:1024057




In which of the following case will you get deeper oceanic basin?

(1) Fast spreading rate at mid-oceanic ridge.
(2) Slow spreading rate at mid-oceanic ridge.
(3) Moderate spreading rate at mid-oceanic ridge.
(4) Ocean bathymetry is independent of mid-oceanic ridge spreading rate.
1) 1
(2) 2
(3) 3
(4) 4

frferfiga & & forg et 8 smost <3 R0 wEEmiE #fim we Eme

(1) W% WEMEPHE e T g faeamm =
(2) UY HEMEPHE %ed W o< fawm &
(3) U= uErEEE Sds W eIy famm o

(4)  wEmETHE s Te-wEErE weh & fawmo @ @ =an B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25725]
2[Option ID=25726]

3[Option ID=25727]
4[Option ID=25728]

Sl. No.83
QBID:1024058

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : The inner core is a solid iron alloy.

Reason (R) : Even though inner core is hotter than the outer core, it is solid because it is
deeper and subjected to very high pressure.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) is true

(1) 1
(2) 2
(3) 3
(4) 4




f= 1 % fou mu € : wF AU (Assertion (A)) % 9 # fufiga 2 @1 @90 39 FAO (Reason
(R)) % &1 H :

sifirmem (A) AT ®ig UF 3 wie fygr & 50 2

HHT (R) : Tl =l wig 9 wie & go | sfus m 2, e e § 2R i 3E g
& WHE H 1 % A0 92 3 2

I YA & e °, A9 o o fawedt @ @ 99w s s w3 fifsw

() (A) 3 (R) EH 78 8 3t (R), (A) it w8t =amen @

(20 (A 3 (R) I T E S (R), (A) F T =mEn T R
(3) (&) @A R, dfe (R) 38 8

() (A) 375 2, Afe (R) & 2

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25729]
2[Option ID=25730]

3[Option ID=25731]
4[Option ID=25732]

Sl. No.84
QBID:1024059

Which 1s the most abundant element in the crust?

(1) Silicon (2) Iron

(3) Aluminium (4) Oxygen

(1) 1
(2) 2
(3) 3
(4) 4

qridt 4 = a1 e ged sifus g AT | 27
(1) fafew (2) e
(3)  srcafufem (4) EE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25733]
2[Option ID=25734]

3[Option ID=25735]
4[Option ID=25736]




Sl. No.85
QBID:1024060

The seismic moment ‘M’ 1s defined by

(where G 12 shear modulus; A 1s fault

rupture area; AW means displacement across fault)

(1) M=G-A AW

3) e G- AW
A

(1) 1

(2) 2

(3) 3

(4) 4

qHEfE e M = e | afenfya G w2
afdEnm &3 8, AW 99 % WH-91 3itgq e 2

(2) M= M
AW
A

S “G.AW

(F&l ‘G’ sTo=Iw T ', A’ ¥

(1) M=G-A-AW @ m=£4
AW
r-AW A
3 M = 4 —
& A e G-AW
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25737]
2[Option ID=25738]
3[Option ID=25739]
4[Option ID=25740]
Sl. No.86
QBID:1024061
Match List I with List 1T :
List-1 List-11
(Terms) (Definition)
(A) Batholith (I} Country rock surrounded by intrusive material and when
subsequently exposed by erosion.
(B) Dyke (I) Very large intrusion with surface exposure over 100 km?.
(Cy &l (III) Areally extensive small intrusion in a sheet-like form.
(D)  Roof Pendant (IV) Vertically discordant intrusions often composed of dolerite

and frequently exist as swarms.

Choose the correct answer from the options given helow :

(1) (A)-(ID), (B)-(IV), (C)-(I11), (D)-(T)
(2) (A)-(I), (B)-(IV), (C)-(I), (D)-(IIT)
(3) (A)-(I), (B)-(I), (C)-(I1D), (D)-(IV)
(4) (A)-(IV), (B)-(D), (C)-(I11), (D)-(IT)

1) 1




(2) 2

(3) 3
(4) 4
TEi-1 % = 1 g1 frer it
-1 -1
72 BTG
(A) mEEEy (Swfem) (D) seEd wEd ® fll g Tt o S § s @ e A
(B) ==F (ID ®&d 957 3qdeq foad 100 o it & sifas $i was onfem =1
gl
©) fo= (IID) &5 =9 @ =319 32 $1 9F % &9 ° D A=
M) =@ Waa (FF (V) FSAR AR Aadeq S 994 ez J ffda 2@ 2 e T
=) Fs % =9 ¥ Hed 2

Fr= T2 U faem § F HE 39 R 9 i

(1) (A)-(ID). (B)-(IV). (C)-(I1I). (D)«(T)
(2) (A)-(II). (B)-(IV). (C)~(I). (D)-(IIT)
(3) (A)-II). (B)-(D). (C)-(III). (D)-(IV)
(4) (A)-(IV). (B)-(I), (C)-(I1I). (D)-(II)
(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=25741]

2[Option ID=25742]

3[Option ID=25743]
4[Option ID=25744]

Sl. No.87
QBID:1024062

A river crossing an active thrust and maintaining the concavity of its longitudinal profile is
an example of which type of aystem?

(1) Negative-feedback (2) Positive-feedback
(3) Morphological (4) Cascading

(1) 1

(2) 2

(3) 3

(4) 4




forelt @fora woie 1 TR et &3 96 g SR S WrERe 1 FEdea B w9 @ R T f
JUTTE 2 7

(1) THUEsH-Hgds (2) THAHR-GEdS
(3) WA (HIBIeAT e ) (4) @ (SEeRfET)

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25745]
2[Option ID=25746]

3[Option ID=25747]
4[Option ID=25748]

Sl. No.88
QBID:1024063

If a particular, maximum annual discharge of a river has a recurrence interval of 10 year; it
means chanece that a flood of this magnitude or greater will oceur

(1) after every 10 years

(2) after every 5 years

(3) is 10%

() 18 0.1%

(1) 1
(2) 2
(3) 3
(4) 4

afz fedt 921 1 v T safean Tt e = fﬁuq_fﬂ AT 29 99 & a1 THe 19 = 5 =g gimm
7 THH HATSF TSl A2 =] TEAEAT -

(1) =@ % eE?

(2) FUEad % WEE R

(3) =EufawA 7

(4) 0.1 wfdwE 7

(1) 1

(2) 2

3) 3
(4) 4

1[Option ID=25749]
2[Option ID=25750]
3[Option ID=25751]
4[Option ID=25752]

Sl. No.89
QBID:1024064




Given below are two statements :

Statement [ :  In his model of landscape evolution (i.e. cycle of erosion), Davis regarded
landscapes as evolving through a progressive sequence of stages, each
exhibiting characteristic landforms,

Statement 11 :  Main consideration of Penck model of landscape evolution was the
continuous adjustments between force and resistance. He argued that in
landscapes that have undergone long period of denudation there will be
a mutual adjustment between lithological controls and prevailing
surface processes.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
i(4) Statement I is incorrect but Statement I is correct
(1) 1
(2) 2
3) 3
(4) 4

= 21w fEu e

FYAL: T Y2vd 9 (A9 F @) Hisel § SfOE 7 ggvdl # &= S % I #9 F =59
7 waqd fasmme A f3a 21 = v fafvre ¥-wg =i uefeia w2

FUAI1: Ygua-T9%M & UF Osd F G 9IH 9 3R 0q0d F gad 9Hes W 91 3R 98 FEn
iFl = o= o HrHsE T S|

SR Y AT 4, 6 50 e w4 ¥ a6y IR ST B =9 i

(1)  FoA 1A% 291 70l &
(2) YA AT I 2M Ted &
(3)  wuA 1 HA 2, ek ®u [ 7Terd 2
(4) F9 [ e 2, #tFd e [L 91 2

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25753]
2[Option ID=25754]

3[Option ID=25755]
4[Option ID=25756]




Sl. No.90
QBID:1024065

Match List I with Last 11 :

(A)
(B)
(C)

(D)

List-I
(Terms)
Pitch
Plunge

Foliation

Strike

List-II
(Explanation)

(I} Angle of linear element with Earth's surface in imaginary
vertical plane,

(I) Azimuth of the horizontal line in a dipping plane or the
intersection between a given plane and the horizontal surface.

(I} Angle between linear element that lies in a given plane and the
strike of that plane.

(IV) General term for a surface that occurs repeatedly in a body of
rock.

Choose the correct answer from the options given below :

(1) (A)-(III), (B)-(I), (C)-(IV), (D)-(IT)
(2) (A)-(IV), (B)-(I), (C)~(I1I), (D)-(IT)
(3) (A)-(IV), (B)-(III), (C)-(I), (D)-(IT)
(4) (A)-(I), (B)-(IV), (C)-(IT), (D)-(ILT)
1) 1
(2) 2
(3) 3
(4) 4
Tt-1 % @y = g=i-I1 e it
HH-1 =11
(=) (=)
(A) = (1) HeaHs AR a6 W gz i Jaz F WY @ =999 H RO
B =+ (I T s 99§ A9ee @ F e W B R e 9w eI see
T 1 id=ag
(C) == (M) Tt 20 20 o | U3 50 0d@ 3994 317 30 91 & Aides & s & S
(iferom )
(D) e (IV) Tl 9ie9-Tis H§ sIR-91 3 ATl 5 907  for w9 e
(F2TE)
Fr f2u MU faeT 8 © WA 39 R 99 A
(1) (A)-(ITI), (B)-(I). (C)-(IV), (D)-(II)
2)  (A)-OV). B)-1), (C)-(I1I). (D)-(II)
(3)  (A)-IV). (B)-(II). (C)-(I). (D)-(II)
4 (A)-D. (B)-(IV), (C)-(ID), (D)-(IIT)
(1) 1

(2) 2




3) 3
(4) 4

1[Option ID=25757]
2[Option ID=25758]
3[Option ID=25759]
4[Option ID=25760]

Sl. No.91

QBID:1024066
When do drag folds form?

(1)

When a competent bed slides past another competent bed

(2) When an incompetent bed slides past another incompetent bed
(3) When a competent bed slides past an incompetent bed
(4) When the hinges of a fold become sharp and angular
(1) 1
(2) 2
3) 3
(4) 4
FHS go 79 T 87
(1) =@ =i g dear feft s amed sem & s T 2
(2)  ¥E HrE wEmy e e s smed gw 3 s w2
(3) & vk muy e el swmmed g @ s wwan 21
(4) = forelt aem & weat (fEw) dfra si fos & 9w &)
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25761]
2[Option ID=25762]
3[Option ID=25763]
4[Option ID=25764]

Sl. No.92

QBID:1024067




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) :  Joints are often evenly spaced.
Reason (R) : Formation of joints relieves tensile stress for a critical distance. The width

of the zone on either side of a joint in which there has been a decrease in
tensile stress determines the spacing between joints.

In the light of the above statements, choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

A W N =

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true

F= 37 FUF 120 0 F : vF AT9FYA (Assertion (A)) F F9 H fafEad 2 a1 780 39F FA0 (Reason (R))

SATTH (A) HieET (Tare=2g) I TE g W fTua =it 2

Eacif]

SR Y A 4, = {20 T e 8 | wee I9ges S w0 9E Hife

(1
2
(3)
4

(1) 1
(2) 2
3) 3
(4) 4

(A) =T (R) 31 77 2 311 (R), (A) Fi =@ =we 2
(A) 37 (R) 2 & 2, i R), (A) 1 =& =men 734 2
(A) &= &, =iFRT (R) 993 &

(A) 3757 2, =i (R) ¥4 2

1[Option ID=25765]
2[Option ID=25766]
3[Option ID=25767]
4[Option ID=25768]

Sl. No.93

QBID:1024068




According to Anderson's theory of faulting, normal faulting occurs where,

(1) o, and ¢, are horizontal and ¢, is vertical
(2) o, and &, are horizontal and &, is vertical
(3) o, and &, are horizontal and o, is vertical
(4) o, and ¢, are vertical and o, is horizontal

1) 1

(2) 2

(3) 3

(4) 4

(1) o 3R o, 33A 2 W oy FTHETH 2|
(2) 0y =10} (o A E W o FEAT 2

(3) 7, 3 oy IFeA & W oy FHEATH &
4) 0, T oy FAWE W g; FA =

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25769]

2[Option ID=25770]

3[Option ID=25771]
4[Option ID=25772]

Sl. No.94
QBID:1024069

Identify the fault in the given diagram

F
(1) Reverse Fault (2) Peripheral fault
(3) Right-slip fault (4) Left-slip fault
(1) 1
(2) 2
(3) 3

(4) 4




= feu o e 4 yo i wm=m it

F

(1) Iohd W (2) ufefg W
(3)  TEe-feem ww (4) e feea wo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25773]
2[Option ID=25774]

3[Option ID=25775]
4[Option ID=25776]

Sl. No.95
QBID:1024070

maps place rocks in their presumed position before folding and thrusting.

(1) Paleogeographic (2) Paleogeologic
(3) Paleotectonic (4) Palinspastic

(1) 1
(2) 2
(3) 3
(4) 4

arfea Seit &1 39 9o 3 A & veet it st srafeufet § e/ veaee #)

(1) g0 simfers gmfam (2) AT wEfe
(3) Hfesresifs amfas (4) guE= wHtE

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25777]
2[Option ID=25778]

3[Option ID=25779]
4[Option ID=25780]

Sl. No.96
QBID:1024071




The maximum dip of a bed is measured to be 20° in the direction N 30°W. What will be its
strike direction?

(1) 5 30°W - N 30°E (2) S70°E-N 70°W

(3) N-8 (4) N 75°W -8 75°E

1) 1
(2) 2
(3) 3
(4) 4

fereft am1 =1 arfushem 799 N 30°W feam & 20° arar men 21 saht sHeed feen == 2nft 7

(1) T30°9-330°7 (2) ET0°9-370°9
o) S (4 3IT5°T-TT5°Y

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25781]
2[Option ID=25782]

3[Option ID=25783]
4[Option ID=25784]

Sl. No.97
QBID:1024072

When was ISRO established?

(1) 21 November 1963 (2) 156 August 1969
(3) 15 August 1971 (4) 21 November 1972

(1) 1
(2) 2
(3) 3
(4) 4

FET (3.6, 5.3, ) it e s g iy

(1) 21 9991 1963 (2) 1534 1969
(3) 15 T 1971 (4) 2199=T 1972

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25785]
2[Option ID=25786]

3[Option ID=25787]
4[Option ID=25788]

Sl. No.98




QBID:1024073

Which of the following is NOT an image classification technigue?

(1) Parallelpiped (2) Maximum likelihood
(3) De-stripping (4) Linear discriminant
(1) 1
(2) 2
(3) 3
(4) 4

frferiiga 9 o =4 o uiatses i $1 T4 5 27

(1)  HH Aot (Here TEts) (2) Aferan STt
(3)  sAuzdiE (fs—feefam) (4) T fafasa
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25789]
2[Option ID=25790]
3[Option ID=25791]
4[Option ID=25792]

Sl. No.99
QBID:1024074

Which of the following is NOT field-based vector model?

(1) Lattice model (2) TIN
(3) DEM (4) Isoline model

(1) 1
(2) 2
3) 3
(4) 4

frfafiaa | @ = @1 sm-smafa wfen Fea (aea) 36 27

(1) e e (2) FH.amE.
(3y iz (4) FFEE wdE FEd (s aEE)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25793]
2[Option ID=25794]

3[Option ID=25795]
4[Option ID=25796]

Sl. No.100




QBID:1024075

Antidunes form in

(1) Lower flow regime (2)
(3) Upper flow regime (4)

1) 1
(2) 2
3) 3
(4) 4

(1) F=w m=E TG |

(3)  I=a@ YaTE U9 §

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25797]
2[Option ID=25798]

3[Option ID=25799]
4[Option ID=25800]

Middle flow regime

Hyvper concentrated flow regime

(2)
(4)

qeAy waTE W A
TR Fi-2 125 (37 Tehfgd) TEE-TGE §




